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ﬁg TREDBBOEILADKES TREFDOHEREEHDKRES TREDOBBOESLADKES TREDHESILEIDKRES
= = YA 7 =N T = = WE A\ = =N = | =
7 100kN/m##z25| 1.00)| 000 ~ 378 161.49 |3m%ERBRB| 000 ~ 222|4.02 21.50 | 100kN/m%EBZ5| 1.00 | 1053 ~ 9036 161.49 |3mZEHBZ 3| 2500 ~ 90.36 | 4.02 21.50
zh st 100|378 ~ 1157 100.00 | Thst | 222 ~ 1157 3.00 16.05 zh st 100|500 ~ 1053 100.00 | =hs | 500 ~ 2500| 3.00 16.05
2 100kN/m#%#BZ 5| 1.00 | 000 ~ 357 15772 |3m&EEZB| 000 ~ 210| 3.93 21.03 | 100kN/ Mm% 825 | 1.00 | 1061 ~ 8955 157.72 |3m&EHEZ 3| 5000 ~ 89.55| 5.93 21.03
zh sk 100|357 ~ 1136 100.00 | ThLS | 210 ~ 11.36| 3.00 16.05 zh st 100|500 ~ 1061 100.00 | =hs | 5.00 ~ 3000 3.00 16.05
3 100kN/m##Z25| 1.00)| 000 ~ 340 1564.72 |3m%EfBZB| 000 ~ 201|387 20.73 | 100kN/ Mm% 25| 1.00 | 10.72 ~ 9056 | 154.72 |3m&ERBZB| 3000 ~ 90.56 | 3.87 20.73
zh st 100|340 ~ 1119 100.00 | ThdS | 201 ~ 1119] 3.00 16.05 zh st 100|500 ~ 1072 100.00 | Zhs | 500 ~ 3000| 3.00 16.05
100kN/m%E#BZ % ~ ImERBZ S ~ 100kN/m#E#B 2 % ~ ImEHEZDL ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m#E#BZ % ~ ImERBZ S ~ 100kN/m%E#BZ % ~ ImEHEZDL ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m#E#BZ % ~ ImERBZ S ~ 100kN/m#E#B 2 % ~ ImEHEZD ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m#E#BZ % ~ ImERBZ S ~ 100kN/m#E#B 2 % ~ ImEHEZD ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m#E#BZ % ~ ImERBZ S ~ 100kN/m#E#B % % ~ ImEHEZDL ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m#E#BZ % ~ ImERBZ S ~ 100kN/m#E#BZ % ~ ImEHEZD ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m%E#BZ % ~ ImERBZ S ~ 100kN/m#E#BZ % ~ ImEHEZD ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m#E#BZ % ~ ImERBZ S ~ 100kN/m#E#BZ % ~ ImEHEZD ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m%E#BZ % ~ ImERBZ S ~ 100kN/m#E#BZ % ~ ImEHEZD ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m#E#BZ % ~ ImERBZ S ~ 100kN/m%E#B % % ~ ImEHEZD ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m#E#B 2 % ~ ImERBZ S ~ 100kN/m#E#BZ % ~ ImEHEZDL ~
ThLlst ~ Zh s ~ ZhLlst ~ Zh s ~
100kN/m#E#B 2 % ~ ImERBZ S ~ 100kN/m%E#B 2 % ~ ImEHEZD ~
Zh s ~ Zh s ~ Zh st ~ Zh st ~
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